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b

Convert these improper fractions to mixed numbers.. Reduce the result to lowest terms.

a) 38 = 31048 _ 38 _ g4 b) 68 — 41548 _ 48
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Convert these mixed numbers to improper fractions. Reduce the result to lowest terms.
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j) 55 = b16+5 _ 85

3)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction.

114 _ 520414 _ p14 _ 7 L4 239414 _ 92
a) 55 = Tp = O35 = 91p b) 23 39 = 39
o) 63 _ 226411 _ 511 d) 168 _ 529+23 5

2% — 26— “26 20 — 29

252 _ 38246 _ 96 _ 93 386 _ 569+41 =41
¢) 33 = Tg5 = 985 = O4[ ) 590 = 60 = 960

218 _ 277464 64 20 _ 247429 _ 123
g) T =T =2 h) 25 = == =%
. 162 _ 264434 _ 534 _ ol7 N 218 _ 320418 _ 78 _ @
) %1 = 61 — 251 = 23 ) 3% = T 20 — 10
4)

Convert every improper fracton to a mixed number and every mixed number to an
improper fraction.

278 _ 549433 _ =33 34 _ 240434 _ 114 _ 57
a) Jg = T =9 b) 25 =" = 0—20
19 _ 127419 _ 46 478 _ 5-88438
) 157 = =57 =57 d)ﬁ— S =538 =547
)2g_222+9 53 )3 3~74+30_@_m
22 = T 22 22 74T T 74 T T4 T 37
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Solutions to smp-7408-3/FPKS

37 _ 553437 _ 302 121 _ 42945 _ 4 5 o 191 36342 _ 92
g) 955 = 53 = 53 h) 55 = “59— = 459 ) %3 = “63 — 3¢3
) 452 _ 498452 _ 444 _ 222

J) %98 = 798 T 08 T 49

Good Luck!
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